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S o A
seazna lumsnusnu (nDU)

1 2 3 4 5 6
Peak viscosity (RVU)
4°C 297.5 09 ns 2988 + 1.3 298.1 £ 35 a 2936 £ 3.8 ab 296.1 21 a 296.0 + 4.1 3024 £ 23
30°C 2975 £ 09 ns 301.0 £ 1.6 301.1 £ 1.8 a 3024 £ 41 a 2940 £ 7.0 a 300.0 + 0.1 299.9 + 0.6
35°C 297.5 09 ns 3015 +25 2963 £ 08 a 296.5 £ 04 ab 2969 £ 08 a 296.0 + 0.6 296.6 + 3.1
45°C 2975 £ 09 ns 2967 + 3.6 289.9 £ 0.0 b 2876 £ 0.1 b 279.0 £ 27 b 2729 + 33 2777 + 1.6
55°C 297.5 0.9 ns 2819 + 33 2650 £ 1.1 c 2549 + 54 ¢ 248.1 £ 13.0 ¢ 229.1 £ 22 205.5 + 35
Trough viscosity (RVU)
4°C 94.7 0.2 ns 934 + 0.6 956 + 0.6 ¢ 947 + 28 ¢ 938 +02 b 93.6 + 2.0 972 + 0.2
30°C 947 + 0.2 ns 98.1 + 0.6 1033 + 28 b 1047 + 03 b 1013 +15 b 1043 + 0.3 106.5 + 0.2
35°C 947 + 02 ns  100.7 £ 0.2 1042 + 06 b 1065+ 1.6 b 111.1 + 1.0 ab 115.0 + 2.9 1174 + 1.1
45°C 947 + 02 ns 1145+ 19 1224 +32 a 1272 + 09 a 1274 + 1.6 ab 123.6 + 1.6 128.8 + 0.9
55°C 947 + 02 ns 1250 + 0.2 126.7 + 47 a 1247 + 5.6 a 119.4 + 148 ab 1055 + 2.5 92.0 + 2.6
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S o A
seazna lumsinusnu (nDU)

1 2 3 4 5 6
Breakdown (RVU)
4°C 202.8 07 ns 2054 +19 a 2025 + 41 a 198.9 + 1.0 2024 +19 a 2024 + 2.1 2053 £ 25
30°C 202.8 07 ns 2029+ 10 a 197.7 + 1.0 ab 197.6 + 3.8 1927 +55 b 195.8 + 0.2 193.4 + 0.8
35°C 202.8 0.7 ns 2009 +27 a 1920 + 13 b 190.1 + 2.0 1859 + 1.8 b 184.0 + 2.4 1793 £ 2.0
45°C 202.8 0.7 ns 1822+ 17 b 1675 + 32 ¢ 160.4 + 0.7 1517 + 44 ¢ 1493 + 1.8 148.9 + 2.5
55°C 202.8 0.7 ns 1569 + 3.6 ¢ 1382 +59 d 130.2 + 0.2 1287+ 1.7 d 123.6 + 0.3 1135 + 1.0
Final viscosity (RVU)
4°C 133.5 09 ns 1316 + 2.0 d 1346 + 1.1 ¢ 1324 + 2.0 1343 + 14 ¢ 133.6 + 3.9 1344 + 0.2
30°C 133.5 09 ns 137.8 £ 0.1 cd 1443 £ 55 ¢ 146.0 + 2.1 142.8 + 3.6 bc 146.6 + 0.5 148.2 + 0.1
35°C 133.5 09 ns 140.7 + 0.6 cd 1435+ 03 ¢ 146.1 + 2.2 150.0 + 0.8  bc 156.0 + 3.2 157.7 + 2.8
45°C 133.5 09 ns 1562 £ 52 b 1664 + 59 b 1704 + 2.6 1744 + 1.6 a 171.5 £ 0.5 1783 + 2.1
55°C 133.5 09 ns 1714 + 1.6 a 1804 + 25 a 183.1 + 1.2 1804 + 123 a 170.3 + 3.7 1553 + 0.7
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S o A
seazna lumsinusnu (nDU)

0 1 2 3 4 5 6
Setback from trough (RVU)
4°c 388 + 07 ns 382+ 14 b 390 + 0.5 b 377+ 08 b 406 +16 o 400419 ¢ 373+04 d
30°C 388 + 07 ns 398+ 05 b 410 +27 b 412418 b 45 +22 c 23403 ¢ 47+03 ¢
35°C 388 + 07 ns 401 +04 b 393 + 08 b 39.6 + 05 b £20+18 o 24402 ¢ 403+17 o
45°C 388 + 07 ns 418 £33 ab 439 +£27 b 481 +17 b 470 00 b 479421 b 496+ 12 b
55°C 388 + 07 ns 463+ 19 b 536 +22 a 584 + 44 a 610 +25 a 648 +12 a  633+19 a
Pasting temperature ( °C)
4°C 7297 + 009 ns 7259 + 030 ns 7296 + 083 ns 7316 £ 0.05 ns 7258 £ 032 ns 7236 £ 0.05 ns 7415 £ 028 ns
30°C 7297 + 009 ns 7245 + 000 ns 7280 £ 0.00 ns 7320 £ 0.04 ns 7281 £ 002 ns 7231 002 ns  73.63 + 0.00 ns
35°C 7297 + 009 ns  72.63 + 028 ns 7336 £ 030 ns 7338 £ 021 ns 6613 £ 894 ns 7238 £ 0.04 ns 7401 £ 0.02 ns
45°C 7297 + 009 ns 7240 + 000 ns 7299 £ 037 ns 7335+ 028 ns 7241 £ 002 ns 7238 + 004 ns 7379 + 034 ns
55°C 7297 + 0.09 ns 7221 £+ 0.30 ns 73.01 £ 0.30 ns 73.56 £ 0.58 ns 72.49 £+ 0.20 ns 72.60 £ 0.28 ns 73.56 £ 0.55 ns
wineme  a,0,C... Aundedfisnysdniulunoduniidentu uandufueduiifed iy (p<0.05)
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= 1.175
5
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